





















































Section 11
Q. 3 Attempt any four from following: 20 marks
a} Wmmﬂmd.ﬂmnﬂm&umﬂmﬂ

b) Find the median and D for the following data:
"Ranfall in cms 3035 13540 14045 |4550 |30-55 |355-60 | 60-65
"No_of years 3 [s 12 18 ia 3 2

<) F-I-u-hﬁb-qh: .
C.L 10-30 30-50 150-70 70-90 90-110 110130
f 4 10 14 12 s 6 .

d) 4 Find mode and M_D. from mode for the following data:

No. 15 8 '1:-.'-:'“
No. of. B 15  EEAT™

hﬂhm:ﬁuulﬁmmmlﬂd

C)

has 250 items with mean 15.6 and SD = V1344, ﬁnmuﬂsnom-ﬂ
iy ‘ l h “m " ':-',‘;
)  Discrete Random Varishie (if) Sample Space. e

._i) Aﬂ_l-m-mhﬁmnwﬂl-*ﬂdpﬂﬂuhmhh obab
ﬁhuﬂh-uuu)up-hwahulb}tpmd v

.;yu-ha of k., E(x) and V(x). e R
T ) 1 0 1 R kA
;T S X% ulub %+005 |2k k
L _. -;’m- H'f-'}=- !w-m- .mrfﬁb-*.mhq-
Y m-*ﬁumn P(AUBUC). B ey
’ . Mmumuhmdm

is ) even pumber or a perfect square if) a multiple of 3 or 4.
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d) Select the best decision using EOL criteria.
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cision problem below and suggest optimal choice

S: 1
2000 2000 s
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